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D2 = a11 × b10 2 1
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D2 = a10 × b11
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D2 = a13 × b1 4 1
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D2 = b13 × a1

5 r2 = b2 × b15 6 r2 = a14 × a3

7 D2 = b4 × a5 8 r2 = b7 × a8

9 r2 = (c14 + b14)(c15 + a15)

10 r2 = (c14 + a14)(c15 + b15)
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2b10= 2(b1 − 2x)
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−2x(200− x)]
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= 6x2 − 340x+ 12000
200− x
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2
D2 = b10 × a11

D2= 2b10 × a11

= 6x2 − 340x+ 12000
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D2 = (2x)2 = 4x2

4x2 = 6x2−340x+12000

2x2 − 340x+ 12000 = 0
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x2 − 170x+ 6000 = 0

11 x = 120

D = 2× 120 = 240

−x2 − 72x+ 23040 = 0

−x2 + 640x− 96000 = 0
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3
4
x2 − yz = 5760 = 3

4
[ ]2

x
2
+

√

y2 + z2

2
= 113

z + 34 = y

x = x+ 113

= 3(x+ 113)2 = 3x2 + 678x+ 38307

= −4× 5760

= 3x2 + 678x+ 15267 1

= 113− x

= (113− x)2 − 342

= x2 − 226x+ 11613, 2

= 2x2 − 452x+ 23226 3

1 3 x2 + 1130x− 7959 = 0



2 2ab + (a − b)2 = a2 + b2

b a c

−22.5x2 − 648x+ 23002 = 0

1

y = 22.5x

−y2 − 648y + 517545 = 0

y = 465

x = 20
2

3

y = 3x

−2.5y2 − 216y + 23002 = 0
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